Laplace-Transformation

Time Function

Laplace Transform

SO = L7HF(s)} F(s) = L{(0)}
1
1 | 5 >0
2 | #(uut-ramp function) % s>0
§
3 | (n, a positive mteger) 'n ’l s> 0
§
j a 1
4 e T=a §>a
5 s wt 5 @ > >0
s+ o
6 cos wf 5 g 5 s> 0
s¢+ o
7 | rg), forn=1, 2, ... (1) &G
ds
8 tsin wt Az 5> |o|
(5% + ?)
T
9 tcoswt ——— 5> |o|
(5% + 0?)
10 glar) %G( % ) Scale property
11 e“gl(f) G(s —a) Sluft property
12 | e%s*, forn=1, 2, ... Ll s>a
(s _ a)n+
13 re~ 1 > -1
¢ (s+1)2 :
_ T 1 _
14 l-e ST +75) s> -UT
at o @
15 e“ smwt m s> da
16 e% cos wt —S5=4a __ s>a
(s—a)* +w?
17 u(t) % s> 0
18 u(t—a) e;asl s> 0
19 u(t—a)g(t—a) e~ *G(s)
Time-displacement theorem
20 g(0) sG(s) - g(0)
21 g'® s* - G(s) - s - g(0) - £'(0)
-2 g7 () 5"G(s) — s7'g(0)
—s"2g'(0)...—g"D(0)
¢ G(s
23 I g Gs)
; G(s) | 1
24 (gt = + 5| edt)




sinh at e
cosh at = jaz
P 2as
tsinh at 2
(#-)
oot G
cosha e ol
(s -a*)
2a(35% +a?
t* sinh at —3_( (2 2) )
sf—a
, 2 (3'3 + 3a23)
t° coshat T
(s -a’)
, 24a (33 +a2s)
t” sinh at o o
(s -a’)
6 (34 +6a%s* + a4)
t* cosh at ( 2 2)4
s‘—a
a
&% sinh at (S_ b)z _ &
s—b

P coshat (s—b)2 e




